Introducing Multiplication in 10s

Count in 10s.

Each person has 10 toes. How many toes do 3 people have?

) )

How many toes do 4 people have?

L
)W W W=

How many toes do 7 people have?

toes

WA ==
J W W=

How many toes do 8 people have?
Ny (O [T Ny N [T SN [Ty 8 [T (8 17

WDWWWWH W=

Challenge
Draw 6 people. How many toes do they have altogether?
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Introducing Multiplication in 10s

Count in 10s.

Each person has 10 toes. How many toes do 3 people have?

people have toes altogether.

How many toes do 4 people have?

people have toes altogether.

How many toes do 7 people have?

people have toes altogether.

How many toes do 5 people have?

people have toes altogether.
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Introducing Multiplication in 10s

How many toes do 8 people have?

people have toes altogether.

Challenge
There are 6 people. How many toes are there altogether? Write the
number sentence.

X =
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Introducing Multiplication in 10s

Count in 10s.

There are 3 pairs of feet. How many toes are there altogether? Write the

number sentence using x and =.

tI

Can you solve the following problems?
Write the number sentence using x and =.

There are 4 pairs of feet. How many toes are there altogether?

There are 7 pairs of feet. How many toes are there altogether?

There are 5 pairs of feet. How many toes are there altogether?
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Introducing Multiplication in 10s

There are 8 pairs of feet. How many toes are there altogether?

Challenge
There are 90 toes altogether. How many people are there? Write the
number sentence using x and =.
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Introducing Multiplication in 10s
Answers

Each person has 10 toes. How many toes do 3 people have?

) )

How many toes do 4 people have?

L
)W W W=

How many toes do 7 people have?

30 toes

DI A==
)W W WeE=s

How many toes do 8 people have?
SN S\ O [T SO [ 8N [T 8 [ 8 [

WWWWWL WP

Challenge
Draw 6 people. How many toes do they have altogether? 60 toes
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Introducing Multiplication in 10s
Answers

Each person has 10 toes. How many toes do 3 people have?

3 people have 30 toes altogether.

How many toes do 4 people have?

4 people have 40 toes altogether.

How many toes do 7 people have?

7 people have 70 toes altogether.

How many toes do 5 people have?

5 people have 50 toes altogether.

How many toes do 8 people have?

8 people have 80 toes altogether.

Challenge
There are 6 people. How many toes are there altogether? Write the
number sentence.

10 x 6 = 60
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Introducing Multiplication in 10s
Answers

There are 3 pairs of feet. How many toes are there altogether? Write the

number sentence using x and =.

SURITAY

Can you solve the following problems?
Write the number sentence using x and =.

10 x 3 = 60

There are 4 pairs of feet. How many toes are there altogether?

10 x 4 = 40

There are 7 pairs of feet. How many toes are there altogether?

10x7 =170

There are 5 pairs of feet. How many toes are there altogether?

10 x 5 = 50
There are 8 pairs of feet. How many toes are there altogether?

10 x 8 = 80

Challenge
There are 90 toes altogether. How many people are there? Write the
number sentence using x and =.

10 x 9 =90
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